H & 0l & AHS B Ml A

20248 =0ila eI S

SH: AE
M oMK o AL
el HEd3y XA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AL F M 28,192,474 13,058,834 15,133,640
= 12,300,000
[ 3,700,518
= 12,191,956
FHOX L TAIDHE 27,867,604 12,646,996 16,220,608
= 12,300,000
= 3,700,518
= 11,867,086
Ad4F3x X2 213,900 162,746 51,154
A28 42T 213,900 162,746 51,154
201 er23 | 205,800 169,326 46,474
01 At2teltl 205,800 189,326 46,474
OALF: Y A2t 223 29 200,300
OSAZSZ FAIM LU & 2F 5,500
203 =4l 3,600 3,420 180
03 A= PR FZ| 3,600 3,420 180
OALEM SO FRFA 3,600
301 2eEN=S 4,500 4,500
11 dALREIXIE S 4,500 4,500
OSAZS2 BAIMN HRU=E 5 22 4,500
CAAE 2 9,324,218 5,823,350 3,500,868
= 3,700,518
< 5,623,700
JIAm 3 =4 2,000,000 300,000 1,700,000
403 MR HSAHE01H 2,000,000 300,000 1,700,000
01 AXIHHA=2 2L 2,000,000 300,000 1,700,000
O21203 =4 K& 2,000,000
HLHRE RS 22l (Al2) 66,840 29,600 37,240
= 66,840
308 AXIHS0IA 66,840 29,600 37,240
[ 66,840
01 AXNBEES 66,840 29,600 37,240
OMNEHet+S 2|22 66,840
= 66,840
HEHES 2el(%) 2,000 3,000 A1,000
= 2,000
202 048l 2,000 3,000 21,000
[ 2,000
01 2LHoIH 2,000 3,000 21,000
ONE MBS 2|22 2,000
= 2,000
IR Mt =X 2,814,678 823,500 1,991,178




S ALT D
Ha: FoHK| U TANY

CHel: ZAIAIE 2o EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,814,678
403 AXIEHMSA=01d 2,814,678 823,500 1,991,178
[ 2,814,678
01 AXISHHA=2 2L 2,814,678 823,500 1,991,178
Of&Het=e =2IX& 2,814,678
= 2,814,678
ZII0IEHSE KL OIXXI& 817,000 491,750 325,250
s 817,000
403 AXIEHMSA=Z01d 817,000 491,750 325,250
[ 817,000
01 A= 2L 817,000 491,750 325,250
OFII0IHHSH XL Ol 817,000
= 817,000
SAH=AIZAS XIS 3,623,700 3,875,500 251,800
403 X SHHMSAH=01H 3,623,700 3,875,500 251,800
01 AXISHHA =2 £ 3,623,700 3,875,500 251,800
OZAIAEAIZAE K& 1,949,700
OAHEAl MOIE=T FH & JIs22 (=L
E0) 15,000
OHEA S It & £eEXNYE ER(E
IEN) 9,000
OOtAHAl HHEE OH Ofelolsd 2ots 4
1 % SERLXE(ZUEN) 15,000
OOHAAl B2 BIZXS 2ots EX(Z0l&
o) 45,000
OMEZ 3™ X2 OF2t LED Z2 XY &EXI(
CRIE) 90,000
O Ae “ADIZ2E g A 1,500,000
A0E HEEAl 5 17,694,536 6,468,000 11,226,536
= 12,000,000
< 5,694,536
ADIEAIEl ZEANE 15,600,000 4,600,000 11,000,000
= 12,000,000
= 3,600,000
403 AXIEHHSAH=201H 15,600,000 4,600,000 11,000,000
= 12,000,000
= 3,600,000
01 AXISHHA=2EE 15,600,000 4,600,000 11,000,000
OAOIEEEAl 28 AHY 15,600,000
= 12,000,000
s 3,600,000
A0EAIEl TIOIEGIE 25 A 179,216 0 179,216
201 fer23| 179,216 0 179,216
02 S3=gHl 179,216 0 179,216




S ALT B

B FOH @ AN
Rl ADIE YERA 25 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Od AUIEZAl HOIESE |22 179,216
ADE HEEAl OS] 1,710,000 1,710,000
408 XHXI RIS K201 1,710,000 1,710,000
01 XX EHH =2 1,710,000 1,710,000
OADIEEAI SHAAIY 1,710,000
ADIEZA BY SHEHE 29 205,320 158,000 47,320
201 Lere | 194,260 158,000 36,260
01 AR 22l 18,260 0 18,260
OBY ANETA ZHAZHE B4 79 18,260
2 2222 176,000 168,000 18,000
OBY ANIESAl B SHEHE SN2
2l 162,000
B4 ADIECA 2 SHEUE TE3
A 14,000
405 XHoHISH 11,060 0 11,060
01 N USEH S| 11,060 0 11,060
OBY ANIESA B SHEAE 2o
Hl 72l 11,060
Auerel 24 9 N 457,000 44,500 412,500
= 300,000
= 157,000
NEEERCE Cr) 37,000 24,500 12,500
201 Zere | 37,000 24,500 12,500
01 AFR22IH| 22,000 24,500 £2,500
ONAL M a3 =2 22,000
03 #AI2 ] 15,000 0 15,000
ONAE N BHF A XX 15,000
EWEE UHIIE WA 30,000 20,000 10,000
401 Al&2HI L= Chb| 30,000 20,000 10,000
01 Al&H| 30,000 20,000 10,000
OBHHE 8H)IE HE 89 30,000
S AR 390,000 0 390,000
= 300,000
= 90,000
408 THXISHI S KH20I & 390,000 0 390,000
2 300,000
= 90,000
01 IXIEHH =2 Z 390,000 0 390,000
O20248 =2 IIPAIE HEIHEAIRY(ELS) 390,000
2 300,000
= 90,000
ALWE FUXK 177,950 148,400 29,550
ALDE s X 177,950 148,400 29,550
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